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e Impact of the Business Cycle: Activity

1) Fill in the blanks:

The ...

..is the term used 1o refer 1o all people and businesses in a country that engage in

buying and selling. Over the last fifty years people have become much better off, being able to
afford higher quality products. The reason why people are better off is because there has been an
increase in wealth averaging around 25 per cent each year. This means that every year, on average,

the economy produces 2.5 per cent more goods and services than in the previous year.

However, in some years, it is more than this percentage in some years it is less. There might be a few

years where .
otherwise known as the

.. items.

borrow money to pay for

When the economic activity speeds up it is known as a...

is rising but then there are other years when it slows down. This is
. When the economic activity slows down this is known as a.
In this situation, consumer confidence begins to fall. Consumers are less willing 1o

.. People feel confident about the

security of their jobs and they may be getting reasonable pay increases each year. Many of these

items are bought on
businesses.

which increase borrowing. This means more revenue for

Economic Growth, Boom, Business Cycle, Economic Activity, Credit, Economy, Recession, Luxury

2) How does a RECESSION and BOOM affect different areas of the economy :

Recession Boom

Employment

Customer
confidence

Small business
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Choose any 5 products below and explain how their sales would be affected by BOOM and

RECESSION
Bread Holiday
New cars DIY Tools Restaurants
Decorators Cable TV Poundshops

Higher level tasks

Is there a link between borrowing and economic cycles, and if so what is it?

What is the difference between a worker being made redundant and being sacked?
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Topic 1.5 Understanding external influences on business

End of chapter exercises

() Ahouse-building firm specialising in
starter homes for young families

1 Outline how a general fall in UK consumer
spending might affect

(@) Rococo, a small business making and

selling luxury chocolates

(b) T. Hughes, a small bakery with loyal, £l equals $1.257

2 Explain why a strong pound is bad for
manufacturers based in the UK

3 Briefly explain the likely impact of a sharp
rise in interest rates on
() Tesco plc
(b) A car sales business specialising in new
Porsche cars
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4 What price could be charged in London for
$175 Nike trainers when the exchange rate is

local customers 5 (a) If £1 equalled €1.30 last month but €1.20
this month, has the pound risen in value
or fallen in value?

(b) What would be the effect of this change
on the export price to Europe of a £200
UK-made coat?

6 Suggest one approach that could be taken
by British Airways to ensure that it does not
suffer too severely when the next recession

JCB is based in Rocester, S
exports more than 60 per ¢
£2 billion annual sales. It th
world'’s construction busine
The impact of the global re
is clear to see on Figure 28
company’s owner, John Bai,
strongly for Britain to leave;
Brexit vote in June 2016, th
slumped by around ten per
be seen whether JCB expor
will suffer when the full exi
completed. Around 6,000 jc
stake
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JCB is based in Rocester, Staffordshire, and Total: 13 marks
exports more than 60 per cent of its more than 1t

< consumer (9 A house-building firm specialising in

starter homes for young families. Calculate the percentage decline in

naking and

4 What price could be charged in London for
$175 Nike trainers when the exchange rate is

£2 billion annual sales. It thrives when the
world's construction businesses are thriving
The impact of the global recession in 2009
is clear to see on Figure 28.4. In 2015, the

sales between 2007 and 2009, 2)

(b) Outline one way in which JCB may
have responded to this decline in

company’s owner, John Bamford, campaigned sales. 2)

£1 equals $1.25?
End of chapter exercises with loyal, «
5 (a) If £1 equalled €1.30 last month but €1.20
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